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1 R AR 1 HARES 1 HuE
2 R AR 2 i) HAREE 2 M
3 R AR 3 i) AR 3 M
4 R AR 4 ) HARES 4 HiE
5 R AR 5 ) AR 5 M
6 N AR 6 i) H A 6 M
7 R AR 7 ) H AR 7
8 R AR 8 M AR 8 M
9 R AR 9 i) H AR 9 M
10 | RSHAH 1 0 HiE A 10 Mok
11 | RSHEMAH T 1 HE HAREE 1 1 HE
12 | RSHAH 1 2 HE HAEE 1 2 HiE
13 | RSHMH1 3 HE A 13 HuE
14 | RSHAH 1 4 HrE] HAREE 1 4 HiE
156 | RFHMH 15 HE A 1 5 HuE|
16 | RTHMH 1 6 HE A 1 6 HuE|
17 | RSHAH 1 7 HrE A 17 HoE|
18 | RHH 1 8 HitE) A 18 Mk
19 | RFHMH 1 9 HrE A 19 Mok
20 | RTHARES 2 0 Mk A 2 0 Mk
21 | RFHARE 2 1 Hidh) HAREE 2 1 HiE
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